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QUESTION BOOKLET - w1 qfeast

Instructions / RS

General Knowledge (Preliminary) / |THT=T ST (YTfRre)

289497

Roll Number/s#i g&ar

Please read the following instructions carefully.

Far e [REert & e T

1) Mark carefully your Roll Number and series of the
question booklet on the OMR Answer Sheet and sign at
the appropriate place. Write your Roll number on the
question booklet also.

ST AT HEAT T 27 71 3 SRt v & 0o 3 92 7 1)
AT T@F o qur 3Rt 9% s geareT w4 s

FHTEH HEAT FT 1T w47 GReqahr a< Y fora

2) Strictly follow the instructions given by the Centre
Supervisor / Room invigilator and those given on the
Question Booklet.

ez TAAErH/FE e g Ry A qur v gRewr w R
it =1 F=rE & wrer #4)

3) Candidates are not allowed to carry any papers, notes,
books, calculators, cellular phones, scanning devices,
pagers etc. to the Examination Hall. Any candidate found
using, or in possession of such unauthorized material,
indulging in copying or impersonation or adopting unfair
means, is liable to be summarily disqualified and may be
subjected to penal action.

et 1 freft e 3 e, Avew, qee, S, a9 e,
FHT IUFT, I Tenf A oftey waw F Ay A aay
TE 81 ST i 5 afefRe a1 T s
ST A7 e o & ¥ 1S awrwg 26, srerar S A w5 A
o7 T ARt # R we S, ¥ s aww w7 R
SO AT I 0T SUSTeF FrAarer ot 6 7 ey 1

4) The examination is of objective type. This Question
Beoklet contains a total of 120 questions and total time
allotted is 120 minutes. The subjects for this examination
are General Studies, General Science and Mathematics,
Mental Ability and Basic Knowledge of Computers. 30
Questions from each subject have been asked.

Subjectwise questions are not in sequence.

T wlvear Tegfg T A e &) wor o # g 120 v §
A = fore Fo1 120 foree w1 aw faifo fiem wr ) ofer
F B am seme, amr few od afe, el
ETHET T FFET HT e G T g1 54 &Aog & 30 w7 @
T FrfErTErET e U o A A R

5) The candidates must check that the Question Booklet
has 120 questions with multiple choice answers,. If any
discrepancy is found, immediately report to the Invigilator
for change of Question Booklet.

sreafd geefit st e & B wer qftasT & 120 wr &, s 7g-
Ao 3w § | 79 AR Rl s A gf R o v e
T HFrers 1 g F¢ arfh sy gerdt R I & w3

6) Each objective question is followed by four answers.
Your task is to choose the correct answer and mark your
answer on the OMR Answer Sheet and NOT on the
Question Booklet. Y
T TG T F AL IAC A AT qE I FY A
ATHAT I 9F R P s &1 o o qRRawr w
e &Y s

7) Completely darken the CIRCLE so that the alphabet
inside the CIRCLE is not visible. Darken ONLY ONE
CIRCLE for each answer as shown in the example below.
The CORRECT and the WRONG method of darkening the
CIRCLE on the OMR answer sheet are given below.

T A O g AT A ¥ vy I T F 92T F7 qure e
TR TEAF I F O Syt v M Ay Fvem # S A F
IR # @ T4 {1 S uH.A) IR 9 9% At Fr T
A FT FqEY v v R W )

Correct Method / #&t ¥8#T  Wrong Method/ e a8#7 . o

8) Please mark the right answers and boxes on OMR
Answer sheet ONLY with black ink ball point pen. Filling up
with pencil will not be allowed.

aﬁ.@.mmw%aﬁwﬁaﬂwﬁﬁﬁmmﬁ%m
FTAT ALY F TV CATES FAH FT TR FE Hfer & W srgafa
& &Y Ut

9) All questions are compulsory and carry 3 marks each.

There will be NEGATIVE MARKING. 1 mark will be
deducted for each wrong Answer.

¥t o o § o wedw ot ¥ R 3 o ) s mw s
TR S w3 wrer 3w ¥ g 1 i Y e Y s

Instructions continued in the last page

et #1 sifaw g F 1t 7@

&
i

&
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1) Who is the Director of Jharkhand Space Applications
Center (JSAC) as on July 20127

A) Umesh Mondal

B) A.T. Jeyaseelan
C) Najmul Hoda

D) Kasturi Rangan

1) 2013 R e stafrer i 3 (JSAC) &
HET FIA &7

A) 39T HET B) A.T. SraTeie

C) 757 g=T D) F&q T

2) What 7is a network that is confined to a college campus
called?

A) Intranet

B) Wide Area Network

C) Campus Area Network
D) Extranet

2) IH Aedh 6T ATH FAT & S Hael HiosT TRET g5 SHad grar
27

A) TTTHe
C) F¥1g ufar seas

B) aTzs wRAT Yeas
D) u#gTE

3) There is a certain relationship between two given words.

Which pair among the given alternatives depicts the same
relation as exists between the given pair. Select the best
alternative

Artist : Paint

A) Chemical : Discovery

B) Mechanic : Car
C) Sculptor : Clay

D) Doctor : Patient

3) faw o = et F i U @ Eay g1 Ry v Hewedt 4
FITET FATET I GATA Ha9 T 90747 § ST € T LT & Ao
2 wad Jga fAwer g+

FATHI : T
A) THEA : GiS0 B) FTEIT: F1X
C) #fdame ; it At D) sfaex : 7=

4) On which principle does the Electric Motor work?
A) Electromagnetic induction

B) Electrolysis

C) Centripetal acceleration

D) Magnetic effect of electric current

4) faera Aiex fa Rigia oT w19 el 32

A) fEr=Egaf S

B) fa=rasrmees

C) sty wor

D) fa=ra & =1 gy wwra

5) Which Santhali play-writer won the Sahitya Academy
award for his/her novel "Rahi Rawan Kana"?

A) Bishwanath Tudu
C) Bhogla Soren

B) Usha Kiran Khan

D) Tilka Manijhi

5) T wraTeft ATeRFTE T I ST "TET TAT FEAT F
Forg anfRer st e & e e

A) fagmamr g
C) STt /I

B) T T @
D) Rt w=ft

6) You are unable to find the internet file you saved from
the web browser last evening. In your attempt to search for

the file with the search option, what file extensions will you
search for?

6) 3T T FEAT FHT A ATIL & AT 7€ T2 Weet T ged
# srered §) @ior feew ¥ AT wISel F7 GIoi & I TATH

oy e v e it wreet wr @
A) POP B) COM
C) BAT D) HTML

7) Group the given figures into three classes using each
figure only once

7) e et T U AT IUAT w gu R R A fie
AT H AR FY

OJd

SR
ATAVE:

A)158;34,7;269 B)1,36;459;278
C)136:25,7;489 D)6,78;1,35;2,49

8) Star releases enormous amount of energy, what is the
reason behind it?

A) Radioactive disintegration
B) Fission of heavy nuclei
C) Fusion of lighter nuclei
D) Combustion of fossil fuels

8) T T=VE HIAT § FHoAT GldT &, 36+ T
T T T §7

A) RawfEg feew B) wrdy v @ e
C) ger ATt FTzaw D) Sframew fu &7 757
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9) Which tribal group uses ‘Ol chiki' script to write in
Jharkhand?

A) Santals

B) Munda
C) Oraon

D) Kurmail

Q)W%mmmm%@%%ﬁq‘mﬁﬁ
Forf 7 T Rt st 2

A) g9T7 B) H=1

C) 3ta D) ¢
10) To send a fax of ydur photo ‘you‘ nééd

A) Telephone line, printer, Computer.

B) Telephone line, scanner, Computer, modem
C) Modem, Telephone line, Computer.

D) Internet Connection, Printer, Modem

10)wqﬁ‘ﬁawﬁmﬁmﬁ%ﬁqmﬁm%

A) TATET AT, ez, FopEz
B) T wiree, wR, deew, wWrew
C) #reH, TAHA @z, Fgee
D) $exAe e, ffzx, Wiy

11) A four person crew from Classic Colors is painting Mr.
Field's house. Michael is painting the front of the house.
Ross is in the alley behind the house painting the back.
Jed is painting the window frames on the north side,
Shawn is on the south. If Michael switches places with

Jed and Jed then switches places with Shawn, where is
Shawn?

A) In the alley behind the house
B) On the north side of the house
C) In front of the house

D) On the south side of the house

11)Wﬁmw%wﬁﬁwwaﬁfﬂwmaﬂwﬁz
W@%lmw%mﬁaﬁ%ﬁﬁﬁtﬂmglﬁvw
%fﬁﬁ@ﬂ?ﬁﬁ%sﬁrﬁ?}mf%mﬁ?wwgﬁawﬁ
ﬁsnﬁaﬁﬁb@ﬁ%hﬁﬁzmw%wﬁﬁwﬁmﬁ%l
wﬁuﬁwﬁ—g%mwwqﬁ?ﬁhw%,ﬁrmmﬁ?
aﬁ#%mwwﬁaﬁaw&a‘mﬁwwﬁw%’?

A) = Fit g el & B) =< T 3% fRem &
ki MO JBERFR R R e
12) One of the salts dissolved in water that obstructs the
production of lather with soap is

A) Potassium stearate B) Calcium sulphate

C) Sodium chloride D) Magnesium nitrate
12)mﬁwwwﬁw%mmaﬁ%ﬂwé?

A) Trefram e B) Ffeery et
C) ifeaw Frze D) #fifore Ars3e

13) Silvassa, is the capital of which of the following Union
territories of India?

A) Andaman and Nicobar Island
B) Lakshadweep

C) Puducherry

D) Dadra and Nagar haveli

13)ﬁwﬁwﬁé‘w%ﬁaﬁwﬁﬁﬁsnﬁaﬁsrﬁ
TSTETHT 22

A) S=HTT i e S
B) wrerety

C) wgud

D) =T&T T AR 23+t

14) Which of the following memory vunit can be accessed
more rapidly by processor?

A) RAM B) ROM
C) Virtual memory D) Cache memory

14) Fraferfea & & frr 49 2fie 9t Srive grer st 3o
& s f S e 32
A) . T TH B) =<, 3. u®
C) e A9 D) et &
15) Findthe odd one out,
15) e it wg= w¢
Dy =>4

a [5}

b S

| sl e " g

16) The wavélength of .a ray of light isﬂs.a(i)io Aa.—-Whevltr is“ﬁ;e
frequency in hertz?

16) srmer it v o Y air- &4 5000 A° 21 B H THAT
e 82
A) 5*1014
C) 8*1014

B) 6*1014
D) 10*10%4
17) In which year was the Jharkhand Area Autonomous

Council formed comprising of 18 districts of Santhal
Pargana and Chota Nagpur?

17)%&?&&#%%%18%@?@21?@@
ﬁwmaﬁﬁmw&'ﬁwm%wm?

A) 2000 B) 1995 C) 2010 D) 1990
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18) The red wave underline in MS-Word document
indicates

A) Spelling errors
C) Address block

B) Grammar errors
D) Printing errors

18) THUH-7€ taqie § srardt % A aver srg< # Frem =
Tafar 2

A) AT ¥ 7P
C) U3H sofr

B) I Ffx

D) ffféw fe

19) Follow the directions given below to answer the
questions. :

19) T T I9 31 % Rre A R o Mdseit w1 wrem 7531
A, if all 3 items are exactly alike./af¥ w1 & €t & quft =t
HIEH THAATT I

B, if only the first and second items are exactly alike./af%

FRrk el i gt sreew w2

C, if only the first and third items are exactly alike./af2 far
Tet iR et sreen v &)

D, if only the second and third items are exactly alike/ of%
o gl oix fierdy sireew v &)

KVKVKVKVVVVK  KVKVKVKVVVVK KVKKVVVVVVVK
A)A B)B Cc)C D) D

20) >A hiQH j.ijp ccia-rrnéstar'iir éah jumpto greai?ar ;éignh*t at ¥
the equator than near any of the poles because

A) Equator has low atmospheric pressure

B) Poles have strong magnetic effect

C) Poles have low temperature and humidity
D) Gravitation at equator is lesser

ZO)Wﬁwwwﬁﬁgﬁ%ﬁﬁﬁﬁmwsWW
AT ST F7 wHAT 2 A

A) IHEAYET YR ARGHEAT ZaTT 7 Frer g

B) &1 9% et iy wora grar &

C) AT 9 =T AT S S et &

D) mﬁmwwmﬁmw@ma

21) In which year was the Simon commission presented
with @ memorandum for the demand to form a separate
Jharkhand state?

21)%«ﬁ,@mmwﬁm%mmw%
| AIEAT FHAT Teqer T w2 o2

A) 1929

B) 1928
C) 1927

D) 1935

22) The word wrap feature:

A) Automatically moves the text to next line when
necessary

B) Appears at the bottom of the document

C) Allows you to type over text

D) Is the short horizontal line indicating the end of the
document x

22) 7 T Y #7 fAdrwar 27

A) FTELITFAT EI T THE T ST AT § = W 3

B) =fargiie ¥ =t Red # s frar &

C) € 9T T T TT2T FHew Y qiyew Far

D) g w1 &t e & i stz ¥ si Ay 2ot &

23) If X $ Y means X is the brother of Y; X # Y means X is
the mother of Y; X * Y means X is the daughter of Y in
K#L$M*N, who is the father?

AN B)L

C)M D) Data is inadequate
23)nﬁX$Y$rwuggﬁﬁY%‘rﬂT§xg;X#Y%‘rani’g%
YRAXEX YFad gy Hohx &
K#L$M*N#, far 5= 82

A)N B)L

C)M D) ST A4ty &

24)Wh|ch bloc;dvessel supbliés oiyéénaté& Blood tothe
walls of the heart?

A) Pulmonary artery

B) Pulmonary vein
C) Caronary artery

D) Superior venacava

24) HI Ht T ARAT gaw A St F sivwfom & WY o
smfd wedt &2

A) FFEH AT
C) g ga+T

B) T forxr

D) ZeA wgTfarT

25) What péfce‘ntiaéveb 6f> the t(r)iél‘ éreé;is ﬁndér férest dover
in Jharkhand?

25) wTEE 1 g e wfvere e a a3 arefi simar 22

A) 24.16%

B) 27.16%
C)29.61%

D) 28.17%

26) Which is ther type of e-Iearninngherévies.soﬁé are :
conducted in real-time and carried by an instructor which
allows people to interact with their peers and experts?

A) Synchronous E-learning
B) Asynchronous E-learning
C) Rapid E-learning

D) Real time E-learning
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26) FITHT $-ATHT 7 TH T & a2t Freaqies-am § s
AT iR e grer gt P sty & St it s
Tt AT et & st s wear £2

A) g Safdr B) srf¥iwime S-afefr

C) e Smfdr D) frrer-arén S-aff

27) A, B and C can do a piece of work in 20, 30 and 60
days respectively. In how many days can A do the work if
he is assisted by B and C on every third day?

A) 12 days B) 15 days

C) 16 days D) 18 days

27) A, B 3T C oY &1 &1 #wer: 20, 30 3= 60 R & F=r

212 B ok C g fwy Rw A N mermar Y E 9 A By
AT & 1 Ty F A

A) 12 fer
C) 16 &

B) 15 fa=

D) 18 faw

28) Malaria is caused by the pathogen
A) Rabdo viridae
C) Yersinia pestis

B) Plasmodium vivox
D) Entamoeba histolytica

28) warfT faw dumy & Gt ST &

A) ==t fafer B) weHIfeaw arzate

C) affaar aftey D) uresrftar fRfReformr

29) What is the standard rate of service tax as proposed
by the union budget 2012-13?

29) FHT a5e 2012-13 F 9T wEATAT AAT F ft w4 <
FTE?

A) 8% B) 10% C)12% D) 12.3%

30) In MS- Excel data can be arranged in ascending or
descending order by using

A) Sort command from Table Menu

B) Sort command from Tools Menu

C) Sort command from Data Menu

D) Sort command from Title Menu

30)W-Qﬁﬁﬁﬁwﬁmmmm%€rﬁm
AT FAAGT 77 H AR B o e 82

A) TaF 7L F qIE FATS TIRT

B) To/ ¥ ¥ HlE TS gIT

C) a1 A7 F |i Fwie gy

D) eT3ed A= ¥ |l FHE gT

31) Find the missing number in the given series/
31) g g 2oft F o wrear w7 w9 w7

2,9,28, __, 126,217, 344
A) 50 B) 65 C) 70 D) 82
32) The sum of 3aand dabis ey
32) 3a 4T 4ab FT AT E
A) 7ab
C) 7a°+b

B) 7a%b

D) a(3+4b)

33) Who led the first ever revolt against the landiords and
the British government in the Santhal tribal belt in 17717
A) Tilka Manjhi B) Birsa Munda

C) Jai Mangal Pandey D) Kunwar Singh

33) 1771 & "oTer ST & § ey sfferer s e
TR ¥ faeg waw Rde w1 g Ry am

A) T =it B) faaT H=r

C) ST et qie D) F7ax i

34) What is the Octal equivalent of binary 100007

34) ATEE 10000 F7 afeFeer THeT 7T 22

A) 10 B) 20 C) 16 D) 18

35) In a certain coding language, the letters of the English
alphabet are arranged in such a manner that all the vowels
are put in the end and the remaining letters are arranged
from the first letter onwards. The rearranged alphabets are
used to denote the position occupied by letters in the
original alphabets. What is the code of META?

35) foreft fRfra Fearg stror #, sy aufamer ¥ sret 4 =
TR FafRaq o srar § B et e s A o E v Ay g
HETH FT A T T TG AT §1 AR B 7 e
SUAT T T & Srer<t g7 Tgor 1 g5 Rafy F1 fefie
F % forg fm stram &1 META #7 #re g2

A) TEAM B) PWLV
C) LWPV D) QGYB

o 2\3 2 3 .
36) The biggest number among (3%, 3~ | 3 is
A - el

3 3
3

By (3% D) All the three are equal
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a 2
36) (@°,3° , 37 s & i s ey &
3
Nt B)3?
C) (32 D) &t e sy

37)'Ir>\. which yeér dldthe 1 1th five yéar blan 'beéin?

37) 11eﬁ¢aacﬁqmmﬁmaﬁﬁ°m§%»ﬁ?

A) 2006 B) 2007

C) 2009 D) 2010

38) Proof of origin, receipt and contents of a message sent
over the internet is the security objective of which of the
following security service?

A) Confidentiality

B) Non-repudiation
C) Access control

D) Message integrity

38) TreTe T Sfier R o Rt wrer % e, sy s
mmmwﬁwﬁﬁaﬁﬁﬁwvmhwgtmﬁm
&

A) Trafar B) #-areefisor

C) arf¥rm faeizoy D) wzer it ger-fsr

39) Dev, Kumar, Nilesh, Ankur and Pintu are standing
facing to the North in a playground such as given below:

39) 2=, FA, fwyer, T 3% g & ¥ dam § gow o Ay
A qe T @R S A A v

1- Kumar is at 40 m to the right of Ankur./ FFTF ML A
40 m Fir T WA )

2- Dev is at 60 m to the south of Kumar./ FaTe ¥ =far e
60 m # g wx T &

3-Nilesh is at a distance of 25 m to the west of Ankur./
AT F iR § 25 m 1 7 o e 21

4-Pintu is at a distance of 90 m to the North of Dev./35 %
I AT 90 m A g o iz &

If a boy starting from Nilesh, met Ankur and then Kumar
and after this he met Dev and then met Pintu and all the
time he walked in a straight line, then how much total
distance did he cover?

w&qmmﬁﬁm%sp«ﬁmmﬁﬁw%aﬁrm
mw%mﬁ:méaﬁaﬁrﬁs'{ﬁgﬁaﬂrftmag@
Fﬁzﬁ%mﬁaﬁmg,ﬂmﬁﬁaﬁgﬁwﬁ%?

A) 215m B) 155m C) 245m D) 185m

40) A boy purchases some chocolates during his birthday.
He distributes 1/4 of that to his family members, 2/3 of that

to his classmates and he eats 5. How many chocolates did
the boy buy?

40) wmmaﬁqum@ﬁm%nﬁm
14 1T oy AT ¥ gawt ¥, 2/3 AT U wEAIRT ¥ i
éﬁT%ﬁTﬁ‘a’WSWEﬁT%I =+ 7 e e
TET?

A) 100 B) 80 C) 60 D) 50

41) Thé Santha“l‘ Vrekbell.ion broké oht in 1855 under tHe
leadership of which two brothers?

A) Sidhu Murmu and Kanhu Murmu

B) Birsa Munda and Komta Munda

C) Lok Nath Mahato and Vinod Bihari Mahto
D) Maki Munda and Gaya Munda.

41)w1855ﬁ%ﬁa‘rm%ﬁwfmmﬁaﬁgﬁw
a1?

A) fag ] sire g

B) fara s sire et H=r

C) #1774 wedt Sie e fagré weer
D) HTHT H=T i T =T

42) Which of the following is a shortcut key for siide show?
42) m&ﬁ%%qﬁﬁﬁﬁﬁwvﬁsﬁmgﬁﬁ%?

A)F5 B) F3 C)F9 D) F8
43) The candidatés for the post on améle}k |na biahk rrr;urst ‘

fulfill the following criteria:

i) Candidate must secure a minimum of 60% in Class X
and XIl exams.

ii) Candidate must have had Economics as a compulsory
subject in Class XII.

iii) Candidate must be less than 25 years of age as on 25
July 2003.

iv) Candidate should pass the physical fitness test as
prescribed in the norms.

1. In case candidate satisfies all other criteria EXCEPT (i),
he is required to pass an aptitude test.

2. In case the candidate satisfies all other criteria EXCEPT
(iii), he shall be interviewed by the Human Resource.

Kamla has passed both class X and Xl in first division.
She passed the physical fithess test of the bank. She will
be 26 years old on December 2003. Economics was one
of her compulsory subjects in class XII. She is:

A) Required to pass the aptitude test for being considered
for the post

B) Interviewed by the Human Resource

C) Denied admission

D) Both A and B
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43) % # ol ¥ v % e et i Aeffe aes
T FEAT AEF 2

i) ST, Tt iR aregdT wer £ whersit & =gAaw 60% IF
ITH FAT AELTF 2

ii) sreTef i ATt Far # srferer afEed B g iR
i) srerfT £} S 25 eI 2003 FF 25 T & F S ARE

iv) sremef it o At wheror sl wRAr Tl s
et 7 Ruifa far &

1. 7f2 vt (i) % eremar asft o wft wrde A dqe Fwar
2, T S/ AT TET Sl FAT s 8

2. afx sreardt (i) % srerran @l s wof Arwde A g
3, A WITT HATET G ST ATEATERTT o St

FHAT F TAAT AT AT T ST o Ay F Aol Ay

I % Fir ariifF Frgar wfte sdfiof £ 21 fReax 2003 v
g 26 T Fit &1 ST aTgET FAT F sroferrar S6ET UH
St B am e

A) 7z T fRhit ¥ for e afver st Far sraoras €

B) AT HHTL ETT IHHT ATEATCRTE foram sruam

C) w391 % for = 7 far sroam

D) A 3T B EHt

44)V d’b#ééb / a+b is défihéd oh non ‘ze‘rd rratironawlv by
numbers. * does not become a binary operation if

44) a*b=3ab / a+b T 77 TR HEarEt a7 A Gy smar
21 * uF faememd |hmar 7t 2nft af

A) a=b B) a=-b

C) a=3b D) a=-3b

45) Which film/films has been awarded the ' Best feature
Film' in the 59th National film award?

A) Rock star

B) Deool and Byari
C) The Dirty Picture

D) Chiller Party
45) Frer e / et it 597 Tfir e e # adirm

= fe & w7 § e e T 22
A) UF =T B) Rom st
C) T =& fasme D) farew ardt

486) Which of the following is a term used for an attack in
which an individual inserts unwanted objects, resources or
services into a system?

A) Interception

B) Interruption
C) Modification

D) Fabrication

46) fwfaflra & & et ereg kT % for s R s
& v avg =afRe sworreft & srarifRym awqt, wremer ar famt
STAAT 82

A) TeTieeH
C) mifefrrem

B) geTear

D) &k

47)There is a certéin relationshkip between two inen »
words. Which pair among the given alternatives depicts

the same relation as exists between the given pair. Select
the best alternative

Binding: Book

A) Criminal: Gang

B) Display: Museum
C) Artist: Carpenter

D) Frame: Picture
47) fam T 2y eredt & o U wr ey 31 Ry ey § &

FIFHT SET IF AT Fafsy 7 0t & S R a0 i & sz
B 7 dgax e g+

FSrezamstt: frare
A) IR B) =i Hugre™
C) FHATHIT: 953 D) %= e

48) If a bulb uses 1500 W in 3 sec, what is the energy
consumed by it?

48) = uF T 3qF=(sec) H 1500 W T ITTT F7aT £, THF
g et st 1 @ Y sty 22

A) 4500 J/Sec

B) 500 J/Sec
C) 1500 J/Sec

D) 10000 J/Sec
49) In which event did Abhinav Bindra, the 1° Indian, had
won Gold medal in 2008 Beijing Olympic?

B) Weight Lifting
D) Wrestling

A) Shooting
C) Boxing
49) AT AP 2008 i B Fer-gfrdRar § worm
AT % = § e e & w1t gaw far?

A) fRemaaTsit B) AT

C) gaTsit D) gt

50) A host on the intemet finds another hostby its
A) Postal address

B) Electronic address
C) Domain address

D) IP address

50) TTHE T TF FIEE TAL GIEE FT AT —mmemmemeee Fagra
Grerar g

A) e g4 T B) za=ifAs aar

C) ST gar D) st qar
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51) Find the odd one out.
51) fasra it wg= w3
a b
A== T
IES BEil
c d
A)a B) b C)c D)d

52) A Bullet of mass 100 gm is fired in the upward
direction and it has a velocity of 100 m/sec. What will be
its kinetic energy when it reaches half of its peak height
(half of the maximum height it can reach)?

52) 100 gm 5=aaT fit T Treft ST fY R & gnft ot &

TIT TEHT AT 100 m/sec. §1 9 Ig EhY ameft off F=rs U
gAY (S8 ST T Y 1w ATt iR ) v arre)

T TEhT TS St 4T gAT?

A) 500 J B) 250 J C)100J D) 1000 J

53) Which of the following group of languages belong to
the Dravidian family?

A) Korku and Mundari  B) Santhali and Bhumij
C) Oraon and Paharia D) Angika and khortha

53) frafafed & & Fi ar 9o w1 a9z #fE ofaw ¥
TrafeT 87

A) TF R q=t
C) 3% 3% warfzar

B) HaTeY 3 syffrer
D) sifirr iz @t

54')‘\;\-Ihen é mouse is poihted overa cena}ﬁ tvextmih én A

HTML page, it turns into
called?

A) Hyperlink
C) Protocol link

shape. What is such text

B) Mailing link

D) Reciprocal Links

54) 51 faeft HTML 958 92 9 913 9% 9TSH T 7@ Srar
&, v g 0" e 3 w21 st 31 0 v T
STaT 872

A) greufer
) e it

B) & ot
__I:l)v%ﬁqﬁw\ ‘ o

55) In following question the number in the square
brackets is related in some way to the numbers on either
side of it. The numbers in each group are related in the
same way. Find the missing number in the last group.

55) Reforfera v & =5t g & € w8 wer waw @ d Gl
Y A &t € Hear F Ay Y w1 § gefia 81 wodw agg &
HeaTd 3t v wEfie §) sifdw aug # v ge s w0

(21[7]1 31) (23[11133) (24[ ] 34)

A) 16 B) 13 C) 10 D) 12
56) The atomic number of an element is the number of:
A) Protons

B) Neutrons

C) Protons and Neutrons

D) Protons, Electrons and Neutrons

56) fareY e it aATYp Hea # 5ETT 2

A) et B) =gf=

C) el ik =gf= D) Wiet=, gaeei=q, A =zt
57) Which of the following is the sub-capital of Jharkhand?
A) Jamshedpur B) Dumka

C) Dhanbad D) Bokaro

57) Fafafed & & &7 @1 s Aede 6 sr-awerE 22
A) SRR B) 3

C) gaTE D) AT

58) Which 6ne of thé following is an example of a Web
Browser?

A) Opera B) StarWorks

C) GoogleApps D) Odilla

58) o & & FieraT A ATSw F forw v gaTEI 27
A) 3T B) TeTa

C) TErauIH D) sirfe=r

59) In the following question, four figures are given,r that
follow a certain sequence or pattern. Find the next figure in
the sequence from the answer choices provided below.

59) = R T sy # = arpfat 4 S £, S v e ww
a1 v § ) Fi=r e T s Redt § & s ww A sty
AT RAT?

BN -RE
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60) Which type of microbe is Mushroom?

A) Extremophile B) Fungi

C) Protista D) Eukaryote
60) FHFTHTT 38 THIT HT TATI[ 22

A) THFIEHTRET B) Fa®

C) smertia D) gefiashet

61) Group the given figures into three classes using each

figure only once

61) e 2t %7 U a1 SuF w5 R o Rt i i
vt F EFa

[T

BjpajiN

A)1,23;456,789 B)1,35;24,6;7,89
C)159:;362;478 D)197;285;346

62) What is the value of square root of 121007
62) 12100 3 et F1 T 4T T2

A) 110 B) 120 C) 90 D) 100

63) If you are checking mails using a browser, then your |
browser is the:

A) Server, because it shows data stored in the server

B) Client, because it requests data from the server

C) DBMS, because it queries the backend for your data
D) RDBMS, because it requires the data from the server

63) #f2 a7 Rt ATewT F1 W e gu AT ZW I A
HATIFHT ATSIT &

A) T4, T 75 T4 9T sieTia Ry 2er A et 2
B) Fmse, FifH wdT & 32T 1 Ay Far ¥

C) DBMS, =iif¥ ag a7+ 3T ¥ forg asvte o= #zar 2
D) RDBMS, Fif¥ 58 wdx & a1 i ariyer 21t &

64) In which year did the decimal series of the Indian_
rupee came into force by dividing the one rupee into 100
paisa?

64) e af & ue TOAT #7100 T F FiewT ST w99t i
zermerd Avft § @y fRar e

A) 1955
C) 1957

B) 1956
D) 1958

65) Introducing Mohit to his friend, David said, "He is the
only son of the only daughter of his mother."

How Mohit is related to David?

A) Nephew B) Niece
C) Son D) Brother

65) Hifga F1 af= 9w e & #ra gu 2fae 3 @y ag s
HT AT TEHATT T 7 A2T R)

Hifew =7 37 e % arer w4t Avar 27
A) seftsT B) wisft C) a1

66) Set A = (3, 4, 6} Set B = {5, 8, 9} Set C = {2, 9, 7} then,
AU (BNC) = ?

D) wTE

66) Set A = (3, 4, 6} Set B = {5, 8, 9) Set C = {2, 9, 7} &=
AU (BNC) = ?

A) {3, 4, 6, 9}

B) {5, 5, 6, 9}
C){3,4,3 ,3}

D) {3, 2,5, 9}
67) The desktob icohs havé been éus‘tokrhriierd by ti{é“
previous user. How do you set the default icon images?

A) Restart the system
B) Select the Effects tab of the display properties and
choose the default icon of the desktop icon option.

C) Right click on every icon and select the default icon
option.
D) Delete the icons

67) Fraer ST ST e S T st R T Am
oy Rewive sitas gt i & f w007

A) TUITEAT &7 AT 2l

B) et wivlsr  gheres T 7 53 F¢ 3% IR1T stasT
e ¥ Rhiee sitase 1 341

C) TeiT S I =TT faerer ¢ siiw Rwitee st g 5
FIT FL|

D) st T geTd

68) Which of the following sports personalities is
associated with the Indian Hockey team from Jharkhand
winning the commonwealth Games 2010?

A) Kirandeep Kaur B) Ashunta Lakra
C) Subhadra Pradhan D) Poonam Rani

68) TTXET & WiRd it gl W & wafea fwfafea & & fe
et § TrgHe @ 2010 # sfa e £ A2

A) oy ik B) =TS[aT T

C) {HIT Y& D) g H Tt

69) If Simple interest on Rs. 200 for 2 years is Rs. 40 then
what is the compound Interest on Rs. 400 at same rate of
interest for 2 years?
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69) af Rs.200 T 2 atf &7 wreTor =To Rs.40 g &7 Rs.400
Waﬁﬂwzwwmwwm

A) Rs.84

B) Rs.80 C) Rs.120 D) Rs.124

70)(AUB)UC =AU (BUC) Is based on which law?

A) Commutative law

B) Distributive law
C) Associative law

D) Disjoint law
70)(AUB)UC=AU (B U C) e forarmr w smefie &2

A) 7R e B) &z fagw
C) arg=d faw D) sr&gen fawr

71) Which of the following is an output device?

B) Keyboard
D) Plotter

71)ﬁwﬁﬁmmwm2‘?
A) BT B) faE

A) Scanner
C) Mouse

C) ATS® D) =TT

72) "Jado Patiya", the art of painting, is the speciality of- i

A) Santhal

B) Birhor
C) Munda

D) Asur
72) R $t Fer ey aR, Freeft R &2

B) e
;g)icompi;t‘;the given series
73) fRw T Aot i wzy -

I Ge 872

A) 280 B) 180

A) E9TeT C) g1 D) stz

C) 360

74) Which of t;—e };Il_owing s‘tétemen.tui;t“rue for
DETERMINANTS?

D) 460

A) Number of rows and columns should be different
B) The determinant always gives a negative value
C) The determinant always gives a positive value
D) Number of rows and columns should be same

74)%%ﬁqﬁwﬁﬁmmma@37

A)w%ﬁmﬁaﬁﬁmﬁwaﬁm%q
B)ﬁaﬁzﬁawméﬂ%
C)ﬁmﬂammwz
D)ﬁ%ﬁwﬁwﬁmmﬁwﬁq

75) Which among the following is the most recently use&

high-density_optical storage drive?

75) e % & 2 ot g & & v 39 wver Yy wofa
T gTEA 22

A) it B) Tty

C) =X D) Hi<t-smeeeey

76) Whlch State |sthe leédihg pro';:idc,;ér'of Mangé‘nese in
India?

A) Orissa

B) Jharkhand
C) Tamil Nadu

D) Rajasthan

76) Wﬁmwmﬁvﬁﬁvrwwﬁmmé?
A) 3T B) siET

C) afare 7rg D) TrsTET

%7) I} inrar‘c‘ért'ain Ibanbguage, WIRELESS is Wfitten as :
ERIWSSEL, then how is the NOTEBOOK coded in that
language.

77) faeft wraT F WIRELESS #t ERIWSSEL ¥ =7 3 fora
SITET &, 99 39 HTOT F NOTEBOOK #r &#& Feag faar
STTT?

A) ETOKNOOB

B) ETONKOBO
C) ETONKOOB

D) ETNOKOOB

785!50r any2 inéﬁ boints A and B on the circumference
of a circle, if the angle subtended by A and B at the centre

is X, What will be the value subtended by A and B at any
point on the arc?

78)@ﬁﬁwmwﬁqwqﬁﬁg‘f2ﬁ'§aﬁAws%%q
uﬁAWBmﬁﬁwﬁaﬁvﬁwxg,Amew%
et g o siafir a0 1t ot 2vme

A) 3X B) 2X C)X D) X2

79) Which of tr;eﬂfélrlowing is a software used for delivering,
tracking and managing training and education over the
Internet and offer features for online collaboration?

A) Learning Management System
B) AICC

C) Sharable Content Object Reference Model

D) Distance Education Council
79)ﬁ$rﬁﬁaﬁ?rwﬁmﬁmw§, FrET 3w Teie 0w
sfererT s fRverr war I T FA R 39F weee ¥ e
%mw%ﬁta‘rmﬂgﬁwﬁﬁﬁwﬁmw@

A) T =T e

A) CD-ROM B) HD-DVD

C) Blu-Ray D) CD-RW B) T. ae .t
C) 9T Fwéz srasiFe B wiewr
D) fewerw wspar ifoger
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80) Which among the following district is covered with
most forest area?

A) Gumla

B) Chatra
C) Hazaribagh

D) Koderma
80) et & & #iw a1 R aftriora: = & & srgw &2

A) T
C) gamriramT

B) =9
D) reTAT

81 ') .Ia'the following question select the alternative that
exhibits a similar relationship as shown by the question

pair.
Tired : Sleep

A) Unemployment : Job  B) Build : House
C) Paint : Painting D) Read : Learn

81)fFafora wr # 43 Rrerew #1 www w3 5 w3 ¥ g g

@y srgaT T wEy wafia w8

T g3 : AT

A) I : Jr B) fRmfur: wx

C) ¥z : uféwr D) wgAT : d@mr

82) Solve the following equation

82) Fafafar wfiseor fir g ¢

15/2 x (3/2 - 15/7) + 10

A) 145/28 B) 140/13 C)139/18 D) 131/13

83) At which of the following places the new slides can be
inserted?

|. Between two slides

1. At the end
A) Only | B) Only Il
C) Both land Il D) Neither | nor Il

83) et e eam oz 1w womee #r e R o =T
&

1. < wTEEw F ftw

1. s &

A) Fa | B) e I

C) | &= Il <=t D)FlsfxaE Il

84)When dl& ihe state of Jharkhand come into existence
as a separate state?

84) wirEs U o Y & wr semm e S er A aRam &
qqT?

A) 15 Fd9T 2002
C) 15 7/9a< 2000

B) 15 73R 2001
D) 15 79a% 2003

85) Looking at the picture of lady, Ashok said to Vijay that,
"She is the mother of the only brother of your father." How
is that lady related to Vijay?

A) Mother B) Aunt
C) Grand-mother D) Mother-in-law

85) wfger ¥ forr it AT Y@ areirw ¥ Aew A Fr A
TR T F wawr W i w1 &1 frowr w1 9w A fyen F ey
T AqTAT 87
A) 5t

B) ==Y C) Ty

86) Which is the nearest number to 99547 that is exactly
divisible by 6877

D) &

86) 99547 Fit wa® fsveaw dear =T &, 7Y 687 A H5-diw
ST &2

A) 98928 B) 98929

C) 98930 D) 98927

87) Internet explorer stores a copy of every web page it
displays on your computer hard disk in @--------=--- folder in
the windows folder.

A) URL cache B) Temporary internet files

C) URL repository D) Internet explorer

87) $TTAT TFART ATF Foegex 7€ R wafdar g arar

EEREEIRE S R cerds e § VI FET 32
A) URL ¥t B) TR fetAE wieed
C) URL foifiredt D) FetAe Ve

88) How many members of parliament are there from the
state of Jharkhand?

88) ATTEE TS & f wow % qeey 2

A) 14 B)6 C)20 D) 81

89)The number in the square brackets is related in some
way to the numbers on either side of it. The numbers in
each group are related in the same way. Find the missing
number in the last group.

89) =t Frgt ¥ His[ weAr AR A< i AwATSA ¥ 7 WA F
HEfere &1 A g A deart s vy wEw wadt §) s

g § squftya deqr w1 F 41
A) 15th November 2002
B) 15th November 2001 (6[48) (2[915) (4[ 19)
C) 15th November 2000
D) 15th November 2003 A) 25 B) 16 C) 36 D) 64
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90) What is the rate of change of velocity?

A) Speed B) Acceleration
C) Force D) Energy

90) 3T F uftad= Y ax 7w §2

A) i B) mfa=g
C)a= D) it

91) Who designed the first electronic computer-ENIAG?
A) Van Nuemann

B) Joseph Jacquard

C) Presper Eckert & John Mauchly

D) Denis Ritchie

91) e wga TR e ~ENIAC %t g T 9172
A) I =T

B) ST SrTs

C) YT UHE & Wi Ayerer

D) 2faw fifey

92) Which of the following is the highest local body for the

rural local self Government?

A) Gram sabha

B) Gram Panchayat
C) Zila Parishad

D) Block Panchayat

92) AT T F=F-gerE ¥ Rrw et § § e
IgAH T e §2

A) IT T
C) forar uftes D) sette q=Taq

93) The budget for a new social service program is

. Rs.10,00,000. The project has secured Rs. 49,500 worth
of transportation services and Rs. 50,000 worth of office
equipment in kind contributions . What percent of the
budget has been secured in kind?

93) TF T HTHTH FAT FdHH F forw a9 § .10,00,0001

TR Fi g darelt F O .49,500 $i sETCATYF

TRTETAT F &9 § Fratas sew ¥ RBre €.50,000. STH gl

aore i1 e afers SaeaTt ATt & s gan 7

A) 0.5% B) 5% C)0.25% D)2.5%

94) In the periodic table which of the following element is
- least reactive?

A) Sodium
C) Copper

B) T/ =TI

B) Zinc
D) Lead

94) =g = woft & Rer & & i |7 qo7 goy w4
wfafaarsfier &2

A) Tifeawn B) SreaT C) &= D) e

95) What is static IP address?

A) Static IP Address is random signal IP Address
B) Static IP Address is a space-time in which the geometry
does not change

C) A permanent IP address assigned is called static IP
address

D) Static IP Address is a permanent IP Address assigned
by the manufacturer.

95) &few sy (IP) ugw w7 &2

A) ®feF st (IP) w3w v sifvafia R smédt (1P) w3w
g

B) =few srddfY (IP) wgw 7 Sw-www & Rrrdf swrfafy § 9
afads 78 graT §

C) Amsiifese fir T vy smdeft (1P) wi v &2few amddt (1P)
TS FET ST

D) =k st (1P) wiw RfRarte arer e firar
Tt s (IP) 3w 81 ;

96) What is the total number of Villages in Jharkhand?
96) FrTTEE # wiEt A T wear frdt 22

A) 23620

B) 32620
C) 22620

D) 43262

97) Find the odd one out.
97) fareTa it g

A)a B)b
98) Which one of the following turns Red litmus to biue
litmus?

A) Acid

B) Base
C) Oxide

D) Sulphide

98) el # =/ et v F ey R # whafiy <
e

A) s B) &<
C) atFTse D) qeFTEE

99) What is default port number for the HTTP server?
99) HTTP &4 % forg Rvhfee 91 ware Fam 27

A) 67

B) 80 C)23 D) 22
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100) At which place was the Central Fuel Research 105) Complete the given series
Institute, one of the major research institutes established in
the year 19457 105) few a1 Sroft 7 gy 7%
A) Dhanbad B) Bokaro 5,13,25 41,61, ?
C) Ranchi D) Hazaribagh

. 3 ! A) 85 B) 81 C) 20 D) 95
100) FwiT S8 ofver egqTe ST TG 9ITe HETHT § & UF g " .Zm_ . ) e i ) ST ) e
T TTIT A 1945 F fvy woT a0 g 106) Which among the following organs is made up of

cardiac muscles?

A) B) S A) Heart B) Lungs
C) 7=t D) gsTETT C) Kidneys D) Liver

101) In the following letter series, some of the letters are
missing which are given in that order as one of the
alternatives below it. Choose the correct alternative.

101)ﬁvﬁmwmﬁﬁ.wmaﬁmgm
@mﬁ%mﬁmﬁﬁﬁﬁé@%mﬁﬁmww
FX|

i eeddy 7 idd v
A) decee B) deced
C) decdd D) dedcd

102) What type of spectrum is produced by a flament
lamp?

A) Line emission

B) Absorption
C) Continuous emission

D) Discontinuous emission
102) @ﬁmﬂ'zﬁwm%qwﬁmﬂm@ﬁa?

A) T@ET IeEstT B) srarsireror
C) gaq S D) s9ad Ieqsi

1_(>3) Which't;ption is correct to enter the charts in ms excel

A) Formulas>>charts  B) Datas>charts
C) Insert menu>>charts D) View>>charts

103)@mqﬁﬂﬁm€mﬁ.%ﬁqaﬁwmﬁmuﬁgz
A) wiETE>>TTed B) Ser>> wew

C) T&e Ap>> =med D) =p>> =med

104) Based on whose life was the historical novel “Aranyer
Adhikar” (Right to forest, 1977) written by Mahasweta

Devi, which won the Sahitya Akademi Award for Bengali in
19797

A) Veer Budhu Bhagat B) Birsa Munda
C) Telenga Kharia D) Tilka Manjhi

1o4)1979ﬁwﬁméﬁmtﬁaw%wmwm%
T UfaeTies ST ‘i st [GREEIE CEars

1977) farres sfaw o senfi £2
A) R gy W B) faza gt
C) Ferm @far D) fa=r= wveft

106)ﬁﬁﬁ-rfévﬁﬁ?maivgaﬁsﬁﬁw@m%?

B) %wE C) 7% D) aga

{ 07) What ié tl';e térrf; gl;len to thépnc;ﬁon tﬁét ar;y network
can be secured as long as nobody outside its
management group is allowed to find out anything about

its operational details and users are provided information
on and need-to-know basis?

A) Trust based security
B) Security through Obscurity
C) Need based security
D) Security through password

107) 3% ersx 1 HT FgT WA 3, Forerw g A€ off ed
ﬁwmamg,wmﬁmwm%m%mﬁ
¥t =R At o durew R £ 7 T o
ﬁwﬁaﬁ@?ﬁsﬂrmﬁﬁm-ﬁ-msw%
ST I SITHHRTE & Y STl 372

A)ﬁmwmﬁvw(;e%wﬁﬂﬁﬁ)

B) steTeaT g qea (Rt ¥ sttt
C) st smenfia qean (fe T Ragfid)

D) wmaa gy g (Rt g wraas)

108) WHo \}vas: thekey ieft Hvand'e-d ba>t~s>r;\ah‘from '
Jharkhand, won the under 19 Cricket world Cupin

Malaysia in the year 2008, is also now playing for Royal
Challengers Bangalore?

A) Saurabh Tiwary

B) Varun Aaron
C) Cheteswar Pujara

D) Virat Kohli

108) ATTE T AT BT HT @ TwGTS F1 o7 Ry
Hﬁ‘ﬁmﬁﬂeﬂsﬁﬁzaﬁ‘mzoosﬂm,wﬁww

T Fefore & ¥ forg &t <y 22
A) " Ry B) a%vT s
C) S quT<T D) fawre Frgeft
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109) In a certain code Ianguagé CARPET is written as
DCUTJZ, then how is DIARY written in that language?

109) T f33w g wrwr ¥, CARPET #Y DCUTJZ ¥ =7 i
foraT T 8, A 3ol e & DIARY =t {3 srehre foraT stroam?

A) EJDVD B) EKDVD
C) EKDWD D) EKDVC

i2- 2
110) Let f(x) =x* —4x-5,4=|2 1 2|, find the value
25241

of f(A) ?
T8 2
MO f(x)=x’-4x-5,4_{2 | 2| faoy
2 1@l
T AT G172
A)0 B)I C)2l D) -l

111) What does the com " in the URL: www.abcd.com‘
indicate?

A) Commercial

B) Corporate
C) Co-operative

D) Conceal

111) URL: www.abcd.com & “.com * FT gf¥ra Fzar 27
A) FAfE B) FiUlRe

C) Fr-sitaxfea D) Fweier

1{ é)Tn which astrict of Jharkhand isIEg ﬁéserve Fore;t
for Tiger situated ?

A) Hazaribagh B) Palamu

C) Ranchi D) Gumla

112) wrea= ¥ iy R & amet F Rrg @<l o= Ruag &7
A) gSTdETT B) 9oy

C) Tt D) TH®T

118) After moving 7 km south of her office, Sehar realized
that she is moving in wrong direction. So she turned right
and moved another 7 km and turned left and moved
further 5 km and reached her house. How far is the house

of Sehar (approximately) from her office and in which
direction?

A) 12 km in South East Direction
B) 14 km in South West Direction
C) 12 km in South West Direction
D) 14 km in South East Direction

113) 3 Fraters & 7 km 20T i A< e ¥ arw, A Aw
% =g e e # wor o ) gwfre g and gEe e

7 km STt § 9T S6E 918 A7 qEedt & of f 5 km e
T TGS STt 81 AT F Fratery § oy g () Bt &
s o Remr # 82

A) fRror-gd fear F 12 km
B) zféror-afany feam & 14 km
C) zferor-af2m Rerr # 12 km
D) zfarur-gd fZem % 14 km

114) Let 37107125 _ 2¢3*5¢ | then

57167
114) wrar s 30107125 e

5‘76_5

A) a=0, b=1, ¢c=5
B) a=1, b=0, c=5
C) a=0, b=0, c=5
D) a=5, b=0, c=5
115) While on the desktop in Windows, What does
pressing F5 do?

A) Refreshes the screen
B) Opens help menu

C) Does Nothing

D) Opens Search

115) Windows ¥ S¥efw 9%, F5 &Y Zar & 7T v 27

A) Bt =T Tk T &
B) &7 A geraT &

C) TF T FaT §

D) @ISt FI @it 34T §

116) Which district of Jharkhand is also known as the
“Mica Capital Of India"?

A) Koderma
B) Dumka
C) Ramgarh
D) Sahibganj

116) =reEs F famr frer v “strea & s Toram i F A
SATAT ST 82

A) Fr=TaT

B) g

C) TR

D) afRarier '
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117) An organization has kept the selection criteria as
taking atleast 80% marks in written test conducted by the
organization. A candidate must be graduate with 70%
marks with age of not more than 24 years on 1* August
2012 and not less than 20 years. He must have done Hindi
as one of the subjects in matriculation else his/her case
will be referred to the director of the organization if he/she
had scored 80% in matriculation without Hindi. Also the
case is referred to CEO if the marks in written test are less
than 80% but more than 75%. Reema is a graduate with
72% marks in graduation and was born on 4" August
1987. She has completed the matriculation with 90%
marks without Hindi and had scored 90% marks in the
written test. What will you do with Reema as per the
situation given (the case is given as on 1 Aug 2012)?

A) Select Reema

B) Reject Reema

C) Refer Reema to the Director of the organization
D) Refer Reema to CEO of the organization

117)@ﬁmﬁwaﬁrmmm5ﬁn‘§ﬁf@amﬁ
FAH FH 80% T AX g A FraT 1 U vt £Y 70% i
%ma‘rﬁgﬁmaﬁ%qwm1 STET 2012 9% 24 T
srfaaﬁaﬂtzoa&#maﬁ@ﬁm%mw%ﬂﬂﬁm%
Wﬁ@ﬁw%ﬁgﬁ?ﬁaﬁqu&aﬁﬂﬁ?ﬁwﬁm
# e Rt % 80% siw frer & a1 2w =7y e ¥ Frderw
%wﬁvﬁmm|w€rﬁﬁr%ﬁmﬁso% T wq
sﬁr?s%ﬁwﬁmwﬁaﬁ%?ﬁmmﬁﬁ%oﬁﬁwﬁm
ST 6T 72% ST 5 | FAF § AT IHT ST 4 e
1987#@3:3«%%311%7&%90%%%%@%%
Tof BT 2 SR forfer st #F s= 90% % e fru &) & 7
Wﬁ%ﬁﬁmw%ﬁwwﬁ(m1 3TET 2012 FY
fagr mar 2)?

A) T FT =TT w0,

B) €T %7 5o 7Y w4

C) T =7 w3 Frers ¥ wer 93y

D) €T T " F CEO ¥ qre 9

118) If point P(x, ) is equidistant from the points
A (a+b, b-a) and B (a-b, a+b) , then

A) ax = by
C) x? —y’= 2(ax+by)

B) bx = ay
D) P can be any point

118) af fig P(x, y) AT A (a+b, b-a) T B (a-b, a+b) &

THIIE g, qa;
A) ax =by

C) x*—y? =2(ax+by)

B) bx = ay
D) P #7€ +ft fiig &t waar 1

i 19)7The ﬁle;ystem fééideé Bermangntly on
storage.
A) Primary

B) Secondary
C) Device

D) Direct memory

Code - A
119) wrger fRreed womeft &7 F ceeemeeees - FAZ § TgaT B
A) sready B) &¥=&
C) fRamw D) STaEE W

120) Wﬁich Indian cricketer has been awarded an

honorary doctorate degree by De Montfort University of
United Kingdom?

A) Sachin Tendulkar B) Sunil Gavaskar
C) M S Dhoni D) Sourav Ganguly

120) v sireefr ke qrmee Fimrew 3 1 Ates
ﬁﬂﬁamwmﬂ@zﬁ%tm&%ﬁﬁﬁaﬁmm?

A) afae Irgerx B) gt Tmaw
C) T T e+t D) &Y wrivpeft

Space for Rough work
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T

Code - A

10) In view of the limited time span, do not waste your time
on a question which you find to be difficult. Go on solving
questions one by one and come back to the difficult
questions at the end.

AT T @y A1 e § @y g, Gl T v o s
UG qATE AT FX ST AT RS #OGT 1w A TF F UF
T B TS ST ST ST w5t 9 3 & ey s

11) Answer Sheets will be processed by electronic means.
Hence, invalidation of the Answer Sheet due to its
folding/wrinkling or putting of stray marks on it or due to
any other damage to it as well as incomplete / incorrect
filling of the answer sheet, will be the sole responsibility of
the Candidate. Rough work MUST NOT be done on the
OMR answer sheet. Use your question booklet for rough
work.

STTh IU-TF i Fi gowg i qreaw & i s wi,
IUCTA T qEA/RAerae T2 A1 I RE Ao ey s
et oy sy & T el 9 o amer & T eney AT
Y TR F AT FEF (e & AT F Roreardy sreroff £y

ERAT FgT FT S TH A I 9 A& Brg ST | gr w1 F
Fore s e qfeT 7 & s w

12) The OMR answer sheet will have to be surrendered to
the invigilator after the examination. Candidates are
allowed to carry Question Booklet from the examination
hall after the examination.

T ¥ AT ORI ST I Nerm Fr AT ¥ awafFay iy
AT FATH G F I T TRAHT Fer F ATe< F Sy F o
ATAR &1
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